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m B BER mm B BER
Zol 5%a AM 1,500~1,300 Bz 100~80 O# Z=polY '/E 5%a AM 1,500~1,200 TE 1,200~1,000 O#
<k 4%, ALM 1,200~ 800 1%a 250~200 # <k gogsl| 4%, ALM 1,200~ 800 HwAR 1,100~700 A
E—<> 15077 AM 80~65 NF4%, 1,600~1,400 | Af E—<> R | 15077 | AM 70~50 N74% 1,400~900 A
TRy 10%a AL 1,000~600 A TRy FIE 10%4 AL 600~300 BE 1,000~600 A
ZLZ\CA 104 AL 1,000~900 # ZWZ\CA 55 10%, AL 1000~900 FE AH
F5NAZES| 17077 AM 80~70 # F5NAZTS| BEE | 2007° | AM 90~70 FEith 50 #
LA 10, A16 300 # #--600 -)—7600 # Z3 E®BH  10% | AL 800~500 #--500 1)—7500~400 #
TRINSHAR] 10077 AL FRINSGHR|EL-EEF 10077 | AL 140~100 FL 120~100 #
h& 5%, ALK A2L/\7 RE ETE 5% ALZE 1,500~1,000 2L 1,500~1,000 A
AyF—= 2%, AM 500~400 # AvdF—=| & 2% | AM 400~300 H#
HLLV=IT 10077 AM 130~80 N2kg 2,000~1,800 # HLLV =+ | A 100727 | AM 120~100 #
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